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Lesson 5: Wedding Customs

A Match the words in the box fo their definition.

4

) S—

ceremony wedding bride gr“oom : moifh'éfriih;'l-c:w henna

the man who is ge’r’rlng m@mled

the mother of the pegs‘on y@, mqrry
the celet;ifﬁ%ﬁ when pe@ple gef mdrrled

a plc:nf that Is uséps!"" ""'_‘}-,decem’re the skin or colour the hair

o N BB W N

the we;tmdn who is ga%ting married

B Answer these questions using information from the text.

1 Inwhich country do people get madrried in group ceremonies?
2 What are the bride’s hands and feet often decorated with?

3 InMorocco, where do the groom’s friends take him before the wedding?

4 What do men do in d fraditional Bedouin ceremony?

5 What does a white dress symbolize in the United Kingdom?
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Lesson 6: Welcome Home Week

B Write the correct number to match the beginnings and endings of the sentences

1 |have a fest fomorrow, so I'll be [ )
2 Sean and Niall will be
3 Willyou be
4

He’s going to unliversity in another [ )
town, so he won't be

5 | have lots of visitors tomorrow, so I'll be @_,|

58, |..Unit.8_Fomily and Friends . 1.5 i

a

b

coocking all day.

living at home next year.
studying all night.

goling fo the concert?

playing football together.
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